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STRUCTURE OF A SINGAPORE MATHS LESSON

ANCHOR TASK:
o EXPLORATION
o JOVRNAL

o REFLECTION (LET'S LEARN)
o OVIDED PRACTICE

o JNDEPENDENT WORKING
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EXPLORE

THE CHILDREN ARE PRESENTED Multiplying by

WITH A PROBLEM AND GIVEN Two-Digit Numbers
TIME TO EXPLORE. THEY WOULD =
HAVE ACCESS TO RESOVRCES THAT T

MAY “ELP THEM TG S'OLVE THE there in 20 bottles like this one?

PROBLEM AND THEY ARE g o
ENCOVRAGED TO WORK WITH
THEIR PARTNER.
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DURING THIS TIME THE TEACHER

WILL CIRCULATE AROVND THE 5 . Lesson
Multiplying by 3
CLASSROOM AND IDENTIFY Two-Digit Numbers
DIFFERENT METHODS THAT ARE
=
BEING VSED BY THE CHILDREN, IF o s oopl e s
A CH‘LD HAS‘ WCCESWLLY there in 20 bottles like this one?

SOLVED THE PROBLEM THEY ARE
ENCOVRAGED TO FIND A
DIFFERENT WAY TO SOLVE IT.
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USING CHILDREN'S WORK AS

EXAMPLES, THE TEACHER THEN o
Multiplying by

WORKS THROVSGH THE PROBLEM Two-Digit Numbers

WITH THE CHILDREN. &

How much apple juice is
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TJOVRNALLING
Multiplying by Lesson

Two-Digit Numbers
THE CHILDREN THEN RECORD THEIR FINDINGS (N -
THEIR TOVRNALS. THIS MAY INVOLVE FINDING AND s ocss
RECORDING MORE THAN ONE METHOD OF SOLVING

WITH A WRITTEN EXPLANATION.

THE TEACHER MAY GIVE THE CHILDREN ONE METHOD
THAT THEY WANT THEM TO RECORD AS THIS MAY BE
THE METHOD THAT THEY ARE WORKING TOWARDS.,
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A REASONING CHALLENGE
SHOULD BE GIVEN TO THE
CHILDREN TO DEEPEN THEIR
VNDERSTANDING.

E.6. IF THE NUMBER OF BOTTLES CHANGED
76 %0, HOW WOVLD DOVBLING HELP ME?
CAN YOU EXPLAIN UWHY THIS WORksS? Ir T
DOVBLED THE ANSWER AGAIN, WOULD THIS
GIVE ME THE ANSWER FOR X602 UWNY?
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Lers Leaed
AFTER THE CHILDREN €@ u-0-
HAVE TOURNALLED, THE OOOD o OO0
TEACHER WILL 6O
THROVGH THE PROBLEM 10 becomes 100)
WHICH OFTEN MOVES 0000 - 10 10 10 10
THROUGH THE PICTORIAL
70 THE ABSTRACT. 414 = 10 = 4000 + 100 + 40 ﬁ
= 4140 A0 414 tens = 4140

e,
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o 414 x 20 =

Method 1

414 x 10 = 4140

414 x 20 = 4140 + 4140
= 8280

Method 2

414 x 20 = 414 x2 =10
= 828 x 10
= 8280
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LET's LeArn o G Ao, 414 x 20 = 8280
1000 = 20 = ‘.:.""
THE FINAL EXAMPLE MAY Method 1
BE SLIGHTLY DIFFERENT 1534220 = 2000036200 '
= 28 280
TO THE INITIAL PROBLEM “
BUT WILL BE BASED OWN Method 2
(7. 1414 x 10 = 14 140
1414 x 20 = 14 140 = 2
= 28 280
THIS HELPS TO DEEPEN
THE CHILDREN'S Method 3
VANDERSTAMNDING. 1414 =20 = 1414x2 =10
= 2828 =10

= 28 280
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GUIDED PRACTICE

THE CHILDREN WORK THROVGH o Find the value of each.
THE GUIDED PRACTICE WITH

THEIR PARTNERS. THE

QUESTIONS GIVEN LINK TO EACH

OTHER AND GVIDE THE

CHILDREN'S THINKING.

(@) 213=10

(b) 213x=30

(c) 1213=30

FOR THESE QUESTIONS,
CONCRETE MATERIALS ARE
AVAILABLE.

000
o2
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OUIDED PRACTICE

THE QUESTIONS BECOME o Find the product of 2102 and 40.
MORE ABSTRACT BVUT

STILL GUIDE THE 2102 x40 =
CHILDREN TO THE MOST A
2102 = 4 = o 2102 x10 =
EFFICIENT METHOD OF W
WORKING., B\ o
B 2102 x 40 =

L
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JWDEPENDENT PRACTICE

THIS IS COMPLETED N A
WORKBOOK. EACH
QVESTION (NCREASES (N
DIFFICULTY.

Complete Worksheet 3 - Page 21 - 22

Multiplying by Two-Digit Numbers

o This is how Sam multiplies a number by a two-digit num

432 =30
=432x3x10
=1296 x 10

: I

Multiply using Sam’s method.

() 243x20=

(b) 1243x20=

(© 3221x40=

o Charles multiplies using this method:

134x20= ?

134 x 10 = 1340 ;

134 x20=1340+ 1340 N

Use Charles’ method to find the product of the following:

|

(@) 243x20=

-

243x10=

243x20=

] 0L

(b) 2324=20-=

() 1234x30=



